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image4.png
Mo and Alex each have a skipping rope.

Alex says, | have the longest
skipping rope. My
P . 1
skipping rope is 2>
@ metres long.
Mo says,
My skipping rope is
the longest because
itis 220 cm and 220
(o]o)

is greater than 2%

Who is correct?
Explain your answer.
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Three children are partitioning 754 cm

Teddy says,

Jack says,

Who is correct?
Explain why.
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Whitney and Jack
are both correct.
Teddy has
incorrectly
converted from
cm to m when
partitioning.
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Alex is correct
because her
skipping rope is
250 cm long
whichis 30 cm
more than 220
cm.
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f a =10 cm, calculate the missing measurements.

_ | f ..

m

b= cm c= cm 1metre = cm

Can you match the equivalent measurements?

100 cm 9m
5m 200 cm
300 cm 500 cm
2m 1metre

900 centimetres 3m
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Eva uses this diagram to convert between
centimetres and metres.
Use Eva's method to convert:

* 130cm

120 cm
+ 230cem 100 cm 20cm
* 235cm
. 535em im 20cm
e 547cm 1m20cm





